with(DEtools) :
[>

DEplot( [diff (x(t), t) =x(t) - x(t)- y(t), diff , [X(),y(t) ], t=-2.9,x=

-2.2,y=-2.2,{[0,.7,.7], [0, .9, .9], [0, , [0, ][011][011]
[0,1,0],[0,-1,0],[0,0,11],[0,0,-11, [0 3,—.3], [0,-.3,.3], [0 .31}, arrows = THICK,
stepsnze .01, lme olor = black, title="nonlinear’);
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> DEplot([diff (x(t),t) =x(t) - x(t)- y(t), diff (y(t), t) =-y(t) +x(t)- Y(t)], [X (D),y(t) ], t=-2
.9,x=08.12,y=0.8.1.2, {[0,.7,.7], [0, .9, .9], [0, 1.5, 1.5], [0, .3,.3], [0,-1,-1], [O,
_191]9 [0919_1]5 [05150]5 [05_190] [O O 1] [ O 1] [0 3_3] [O 35'3]a [05'39
-.31}, arrows = THICK, stepsize =.01, linecolor = black, title="nonlinear’);
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DEplot( [diff (x(t ) t) =x(t) - x(t)- y(t), diff (y(t), ) -y(t) +x(1)- Y(t)], [X(1),y(t) ], t=-2.9,x=

-9.9,y=-9.9, {[0,.7,.7], [0, 9 91, 10, 15 5] [() 3,.3],[0,-1,-1], [0,-1,17, [0, 1,-1],

[() 1 O] [0,-1,0],[0,0,1], [0, 0 1], [O,- 3], [O,- 3 3], [() 3 31,10,5.5,5.5], [0,-5,
5]}, arrows = THICK stepsize = 01 Ilnecolor black, t|tIe= nonllnear );
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THICK,

nonlinear

- X(1) - y(b), diff (y(t), t) =-y(t) +x(t)- y(t) ], [x(1), y(t) ], t=-2..9,x

black, title="nonlinear’);

X(1)

.01, linecolor

-90..90,y=-90..90, {[0,-40,-40], [0,-40,40], [0, 40,-40], [0, 40, 40]}, arrows

DEplot([diff (x(t), t)
stepsize

AL AAAALALAPPPPPIPAT
b LALALALALALA TP PPP PRI ]

LA EEARN PP PP PPL P 7
el S Py IPP
el ALL PrPPP S22 PP
IIIY) LA PP XPAPA2AP
4 FrPAHPRARAPR
L Sy IVPPYPY
W £ FPRAPIPAIPA
¢ L4 22227
PP PP W S Vg g vy
PERPFPFRFFAL 't @
PPAPPIAAFIAAL Y 22 ¢ v 7

APPAP2PPFPAP AL LA a4 44
PAAPRPLA AN ¢ e Ll
APARFSPAP P AL e
PPPAILPPAPPPAANAS L LA
PISFPPRPPAAM L L L LA L L
PAPRPPPPPINEAL AL

PARAPPPPP2AAML L L AL L




> DEplot( [diff (x(t),t) = y(t), diff (y(t), t) =-y(t) — 6 sin(x(t)) ], [x(t),y(t)],t=-2..9,x=-10
.10,y=-10..10, {[0,-4,-4],[0,-1,4], [0,4,-4],[0,5,5],[0,0,5],[0,0, -5], 0,0,
61,[0,0,71,[0,0,-71,[0,3,3],[0,4,4]}, arrows = THICK, stepsize =.01, linecolor
= black, title = "nonlinear")
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= DEplot . . )

([diff (x(t), t) = y(t), diff (y(t), t) =-y(t) — 6 sin(X(t)) ], [x(t),y(t)],t=-2.9,x=-10
.10,y =-10..10, {[0,-4,-41,[0,- 1,41, [0, 4,-4], [0, 5,51, [0, 0, 51}, arrows = THICK,
stepsize =.01, linecolor = black, title ="nonlinear")
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